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r
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(a) Investments involve Iong-term commitments.

Comment. (5)

(b) Mr. Prasad has purchased shares at 100 each in

the beginning of year 2017 for five years. The

market price at the end of each year and dividend

for the year are given below. Calculate average

rate of return and risk of the securitv.

Year 201'l 20l9 2020 ?o2l
Dilidend (t) 4 5.5 65 6 55

Market Pricc (a) I05 I l0 ll0 t.t3

(10)

OR

(a) What are the sources of risk in an investment?

Explain and elucidate. (5)

l5

Gor4. Security 50,000 51,000 3,750

The mutual fund incurred an expense of Rs. I 8,500

during NAV of the mutual fund at the end of the

year. Find the NAV of the mutual fund at the end

of the year. ( 10)

(er) friri+t' m ao 1M d (ff a-lTqr l-+ ++ Te&-d

frqr vr r+rr *?

(s) R-6 ft+sr6 \16 Eia Jfq|a .{t<-dr i frr} qn rfrt
d qra Ecr * q6o rer qr 6 + ffRq{ qr \R1€r5s

frqr sr ffidr lr *qt or dwr qrdn {e <7s lt qP

ffiTfu frft q{ i.R 6r srsR Ts <60, <72, <iB, <e2,

<ror, {102 zn {105 e, a 3il.srr wwrrq o{} 6
Rrfr wr ti Aer< ffi- qt frarro + dnr qr Erft

6r qirr drfig | 3t-dqft d 3{rffiq sc t rt <nfEsr

zn

(sr) d+- vffi+m fi+flq+- fr 3ren I \-6 crdpi IF6r
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(b) An investor buys a call option that can be

exercised after four months at a strike price of

Rs.9l for a premium of Rs.6. The current market

price of the share is Rs 78. What is the option

exercise status, if market price of the share is

Rs.68, Rs.72, Rs.78, Rs.92, Rs.10l, Rs.l02 or

Rs.105 on the expiration date? Find out the profit

or loss of the investor at different prices. Show

the payoff graPhicallY also. (10)

(a) Stock exchange play an important role in
safeguarding investors. Di scuss. (5)

(b) A Mutual fund accumulated Rs.5,00,000 by issuing

50,000 unit in the beginning of a financial year' It

invested Rs.4,50,000 in the corporate securities

whose present price and the price at which mutual

fund invested is given along with the return

generated to the mutual fund from these securities.

lnvestment Value at the Value at lncome

begfurring the end

Equty 1,75,000 2,13,000 30'000

Debenture 2,250N 2,35,000 26,000

(b) The following two securities have been selected

by an investor.

l'robrbilil\ Relum on X Relum on Y
t20a 6Yo

0.30 8% tt,/o

0.30

Find out the expected rate of return and risk of

both the securities. Which security should be

selected and why? ( l0)

(or) Frlir t ftetmrfuo vlt+aaw rnfra lr Q-qoft

dfrsr

(s) ff rsr< i e{ zotz fr gterrt i viq sfr + fts
floo eA6 {i t{r r{tt Br r&6 s{ + 3rd +

qrsR {s e}< <'S + ftq il:rtn fti Pqr rrqr tr

yft6-d d et6d q< *i ctrnIR + frR{q fr rrqrnr

frfrsr

{TFT 2017 20llt 2019 2o2l

cr{TcT ( {) .l 5.5 6.5 5.5

E,]:rr{ q-e{ ( a) l05 ll0 t20 132 143
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(sr) ftiu t *R{q d *r er *r eq qti Eq qrqr

dfrqr

(e) ffi frarrqi aRr ffiit{il a yfr'r$rir- w qqn fgqr

rrqr lr

SHIiFIT x ql qftra? vtn qidtrE

010 6'ri,

r,t9lo lr%

0.30 -5"/.

++ vfrr(Ra + cfrrm q1 s+fkd rr sfu dft+q

art dftq r fr{ yfuiB qr q++ fuqr flir qrBs 3fu

d?

(a) What is meant by yield to maturity? How is it
calculated? (5)

(b) Irollowing inlbrmation is available in rcspect ol'a

('ii) (ii) t fiffia t-SRrfr sr +n'+a Eqr +n?

(er) 'ffitn-+ur d cBq i-Cs1ft+ + frF'{q +l aq q-ff

6{ ffi'fr"t *lr JrFr rFrkr *? {nf dftRt

(q) eilq-61 qR Bie - snrn *ffiM + ffifr{d frR+q

ffi elqtrd rsr+ f+s qril *,

frffiq,ir Ercff
(&)

riie{c
(oJ

30%,

B l(;1\,
C l3,t(,
D 2t)o1, tlt\,

Fii6 rT+c E?tr q;T ffi roz d qm* G-qra * srq

20% I *r frfrqq T{il cfu{frd qr cz lr rctfii
i t +t<-sr A-ffiRrm qqqqd {fi-6tq * lrrrm qt

srar li

(a) List out some of the grievances of Investors. How

can they be addressed? (5)
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The return of stock market index is 20% with

standard deviation of 10% and that on risk free

securities is 9%. Which of the above portfolio are

efficient on the basis of CML equation? (10)

(sr) "dRlo qrfrc arrc +fuc tE( f+tsr *t ErsR

Q-ffiRrd + {m ffi A ?rf-ft;1' as or< *
$rA-6 t +R-d crse drfl (CML) + 3r't 3lk

frts-fld fr qrcqr frfuqt

(s) EMR T{6T6 rn ffi tev" + ofu lrq-fi F-sa-{ + t-d{

d +Rfi s% +r ctr *R'qq q-€ ffi toz qr ffi
v?r{ 64fr *

(i) oTrc &{ci Es + qr*e +tr efu ftr*'-m cfu

+ A-{ ft( qvra t qrtt, ilfr *-&Frd }
16% tn fu+ftm r&r ss frffifr& 6r +ft{c

ffir fr.n ?

(i) uE urv 20% 6I fr.d 3iffid 6c<r qrdi l, A
ar qe srrs *, +ti

Face Value
Market Price
Coupon Rate
Expected rate ofretum
Maturir)-

r 1000
<875
9%
lt)Yo
4 Years

Find out YTM and Intrinsic value of the bond'

Should an investor buy this bond based on YTM

and Intrinsic value? ( l0)

OR

(a) Differentiate between callable and putable bonds'

(5)

(b) Dhani Ltd. is proposing to issue 10% bonds of

face value of Rs.200 each redeemable in five

annual installment of Rs.40 each every year for 5

years. If required rate of return is 8%, find out

the maximum price an investor can pay for this

bond? (10)

(a) vfu-mar rt cFds-m 6r flr 3id t? Efrs1 rrsnr +t
fr nrft e?
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(q) qrs * t-su t ffifu-d ur++rt oq-a-er I

qfriFq
qrinrr +iqr
Ttr{ 4r
nzi-ff qift-{..
cirqr,ir

{ 1000
{875
9%
to%
qn q'i

ars 6r yTM 3ii s{ffifi rrqq Fr+rfrq 1 er ffi
frarr+ d T6 qrs ).TM Btlr erffi6 qa * sntm qr

Tqfrefl aTEs ?

(w) qi-e sr+ +rq st E-dd ;f-< + Aq srrt dftqr

(q) qrfr frfrts s qfr + fts e-+6 s{ {ao d qrq Erfs

frri i <zoo + B{Rn ra * toz qrg drfi 6d ql
ytrFr 6( r& lr qR stlerd yfrq-d qt e% A, fr nrfr

dfus fh !6 fr+n6 T( qrs + lis 3rfuffi{ ffi
fr{d BrEr ql r+ar t?

(a) "A technical analyst places too much emphasis on

the past and present level of prices and demand

ll
(i) In what proportion will you divide your

funds between the market index and risk-

free asset so as to have a portfolio offering

return of 160/o. What will be the risk of
this portfolio?

(ii) In case you wish to earn return of 2OVo, is

it feasible, how?

(iii) What would be the risk of the portfolio

constructed in (ii)? ( l0)

OR

(a) "The process of diversification cannot reduce the

risk of the portfolio". Do you agree? Discuss.

(5)

(b) You are provided with the following risk return

profile of four different portfolios:

Ponlblio Return
(&)

Risk (or,)

10,% I ti,/o
tl 16,%

t.r'/o
I) 2otrn l.l,t/o
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66 * sq t, sq+ 66 I f+ qa srrri a sfr + frT

dt dF{n *,r In-dr< 
qg etft lr w fiR s{ t <8

vR fu{ + annn qr Trrdm qqr gt e-t tft, ue*

qrq 12% vfr s{ a1 3lttka gE o."} d qr{r+ir

BI

cR T+.t-6{ Tff +dr i, A srrR a qcl } arqrvr 6r

Vram frq u('.n 3fu ilift-d dFrllr gE e< su" vft

s'{ + q-dcra rt{ qt G.ftt EEqe {.fir*{ur Er 18% e

* T+rt-6q t srcqrBd rtrn r

fiRrRm]+sd+R*{gfr{vrqr
EftRsl

(a) "Capital Market Line shows all the combinations

of risk-free investment and the market portfolio "

Explain in the light of this statement meaning and

features of Capital Market Line (CML) (5)

(b) The return on the market index is 18% and the

risk in terms of the standard deviation is 5%' If
the risk free asset offer return of 10%'

and supply." CriticallY examine (s)

(b) Following information is available in respect of

QD Ltd. for the Year 2020-21 .

Equi! Share Capital (FV=<I00
I 07o Preference Share CaPital

Resen'e and Surplus
12% Secured [,oan

tl'llo Deben(ures
Annual Turnover
Operating Profil
Dividend Payout Ratio

Ta\ rate

P/E Ratio

) <20,00,000
{10,00,000

{3,(X),000
{5,00,000

{l0,(x),000
{25,00,000

zOYo

6OYo

3OYo

t5

You are required to find out (i) EPS (ii) DPS (iii)

Market Price (iv) Earning Yield (v) Dividend

Yicld. ( l0)

OR

(a) What are the major sources of information used

in the fundamental analysis and technical analysis?

(5)

4
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(b) Zaved Ltd. has just paid a dividend of t7 per

share. The company is now planning a major
reorganization of its operations and as a part of
this reorganization, it has stated that it does not

pay any dividend for the next two years. It will
commence paying dividend of Rs.8 per share from

the third year with an expected growth rate of
l2Yo p.a. thereafter.

If the reorganization does not take place,

dividend will be paid in the next rwo years and the

expected dividend growth rate will remain at the

present level of 5%o p-a- The equity capitalization

rate is l8% and will be unaffected by the

reorganization.

Calculate the value of the firm's share in both the

situation. (10)

(sr) "s6 drffi'frraqs sttrdi^.. slh qr{r *: sfltffi +
M d{ +Sqr< wt y{ {gd irE-o. *t tcr lr,,

Ei-rrqr dftqr

(a) a{ zozo-zr + ftq qS frfr}s + t.qq + ffiftq-d
urrort .r.rrer *r

qEA *T. .ifr) nv-il 00)

ro% Tft{ir itqT'ifr'
FT{ +' afirc)'r
tzxy&+r"r
s% E+"-
ilffi{{,r+clT
cft.qrfi Err
arri{r'{rrr14.:a1c6
{T ?T

lL4lli,rl

{20.00.000
{10,00,000
{3,00,000
15.(t0.000

{10.fi).0u)
425,00.000

20,%
(rDo/o

3070

I5

srn-+1 (i) Eps (ii) Dps (iii) qr+c yr{{ (iu) B#fn

fi-e (,) GEls {-€ Famrfr il

ztt

(sr) rsr+.d ffi'qu ith ir+rffi mq.uT t rgqd r-qar 6
y3rs *{ €r l?

(q) dTtd frfr-s + sifr-Brfr v yR t+t * urqrsr 6r

yrtrt frqr *r cffi Brd i{c+ tltil{ + \'6 e
g_+rf-6{ fr *r+ q+ {e t ft rq {flter{ * ss
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